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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

Parent companies face a number of strategies which may --------------
variety of products or alternative markets.

1) allocate 2) distribute 3) involve 4) emer
62- A product is a/an ------------- of benefits or values that satisfie
consumers.

1) target 2) complexity 3) influence 4)bundle
63- Most countries consider innovation and entrepreneurship#-------------
economic development.

1) vital 2) alternative 3) permanent tive

64- A foreign trade zone is an area designated by a cou s ized zone where
products may be ---------- from duties.
1) ensured 2) exempted 3) execu 4)avoided

65- Advertising is the best—known and most sed’ form of promotion,

probably because of its ----------- .
1) commitment 2) competition 3)p. @ veness  4) incentive
66- Strategic planning is the process o ter g how to move to a/an -----------
future state.
1) basic 2)
67- A reason why marketer
----------- customers than
1) allocate
68- When businesses o

otential 4)desired
relationships is that it is more effective to
ones.
3) manage 4)solicit
------------ or an increased chance of a threat,

1) trends 3) concepts 4)images
69- Many compani lizing that communicating effectively with customers and
involves more than just the ------------- use of the traditional
ation tools.
2) tactical 3) durable 4) equitable
companies recognize that creating, communicating, and delivering value
-------------- important.

2) precisely 3) properly 4) slightly
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3),
or (4) best fits each space. Then mark the correct choice on your answer
sheet.

A Computer manufacturer obtains component parts from around the world. One very
expensive component is computer chips; These chips are typically small and light. The

chips can (71) ------------- rapidly, but most often the price falls down. These pro
subject to theft (72) ------------- they can be used in most computers around the worl en
these considerations, airfreight is a good (73) ------------ for shipping. It limi i

time, (74) ---------------- security and control of the products. and helps (75------- - that
they will arrive when needed by manufactures.

71- 1) divide 2) estimate 3) measure 4) fluctuate
72- 1) in order to 2) so as to 3) because while
73- 1) scale 2) aspect 3) criterion 4Y¥€hoice
74- 1) requires 2) enhances 3) deterngine defines
75- 1) ensure 2) ensured 3)toen Q 4)ensuring

PASSAGE 1:

As consumers we gene ranted the role of marketing intermediaries or channel
members.
One of a market impﬁtant marketing decisions involves the way it makes its
products and services for purchase. A firm can have an excellent product at a great
price, but it wil e value unless it is available where customer wants it, and with the
proper support

ributors, brokers, and retailers that help a firm make a product or service
o customers. These intermediaries, some- times called resellers are critical to the
company's marketing program.

distribution strategy should also take into consideration the communication objectives
and the impact that the channel strategy will have on the IMC program. Stewart and colleagues
discuss the need for “integrated channel management.” which reflects the blurring of the
boundaries of the communications and distribution functions.

A company can choose not to use any channel intermediaries but rather, to sell to its
customers through direct channels. This type of channel arrangement is sometimes used in the
consumer market by firms using direct-selling programs, or firms that use direct-response
advertising, telemarketing, or the internet to sell their products. Direct channels are also
frequently used by manufactures of industrial products and services, which often selling
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expensive and complex products that require extensive negotiations and sales efforts, as well as
service and follow-up calls after the sale.

76- This passage is mainly about --------------- .

1) direct and indirect selling 2) communicative objectives
3) distribution channel decisions 4) marketing intermediaries
77- As the consumers, it’s stated in the passage, the role of marketing and
intermediaries are ---------------—- .
1) not clear 2) very important  3) not necessary  4) so explicit

78- According to the passage, resellers --------------

1) have a big impact on the integrated channel management

2) help crucially to the success of a company’s marketing program

3) make a product or service available for consumption

4) contribute to recognize the communication objectives and chagnel stra
79- The word “blurring” in paragraph 4 is opposite with -----——-——-_ .

1) disadvantage 2) importance 3) disappearanc? claritﬁ
80- Some product are sold directly because they .

1) are available everywhere without involving the int iar

2) require not any communication before selling

3) don’t have the worth to involve the intermediaries

4) are costly and needs special services

PASSAGE 2:

s markets to international competition.
arder'to compete. Governments are forced to
create conditions that allow busin response to a changing environment. The
dropping of trade barriers and low as improved living standards for millions of
people around the world. But this has considerable turbulence in the economies of
many countries. While some@ountries have called for more tariffs and trade barriers, most
countries want to make their ecQnomiegpmore competitive.

One of the challenges of globalization i
Businesses are forced to become i

Countries can use three strategies to plan for their economies. Countries may use a
central planning str long-term plans. Communist countries used to set five-
year plans, which plans with specific economic goals tor the country. This type of

country adopts to support competitiveness. China has set an industrial policy to
manufacturing center for the world. India has set an industrial policy
a world center for knowledge industries such as programming, services, and
medicine. The United States has set industrial policies in the past. The U.S government was
instrumental in setting up Radio Corporation of America (RCA) to gain dominance in radio
technology. The U.S government also fostered the development and growth of the Internet.
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81- The best title for this passage is -------------- .
1) Three Different Strategies
2) Planning Economies
3) Supporting Business Development
4) Concept of Industry
82- According to paragraph 1 -------—--—--——--
1) making the trade be competitive creates turbulence in all of the economies
2) the lowering of tariffs has improved the standard of living in all aro
world
3) international competition in markets is one of consequence of globalizat
4) all countries are in agreement of making their economies more ¢ iv
83- One of the strategy of free market practices is -------------- .
1) not to create short-term plans
2) not to make high increase in prices
3) to apply a worldwide philosophy L 2 O
4) to drop the trade barriers
84- “Two extreme” in paragraph 3” refers to -------------
1) efficient conditions for changing business
2) concepts completing the industrial pohcy
3) planning strategies expect industrial po
4) policies supporting competitiveness
85- The word “foster” in the last line meafis*-----
1) promote 2) define

4) dominate

PASSAGE 3:

Publicity refers to no perso mm ons regarding an organization, product, service,
or idea not directly paid for or run r identified sponsorship. It usually comes in the form of
a news story, editorial, or @anouncemenfabout an organization and/or its products and services.
Like advertising, publjcity Yavolvegino personal communication to a mass audience, but unlike
advertising, publicity irectly paid for by the company. The company or organlzatlon

ublicity over other forms of promotions is its credibility. Consumers
less skeptical toward favorable information about a product or service
m the source they perceive as unbiased. For example, the success (or failure)
ovie is often determined by the reviews it receives from film critics, who are viewed
oviegoers as objective evaluators. Another advantage of publicity is its low cost,

pers. which an organization may incur some costs in developing publicity items or
maintaining a staff to do so, these expenses will be far less than those for the other promotional
programs.

Publicity is not always under the control of an organization and is sometimes unfavorable.
Negative stories about a company and/or its products can be very damaging. for example,
recently the packaged food industry has received a great deal of negative publicity regarding
the nutritional value of their products as well as their marketing practices, particularly to young
people. Companies such as Kraft food's General Mills. PepsiCo, and others have been the
target of criticism by consumer activists who have argued that these companies contribute to
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the obesity problem in the United States by advertising unhealthy foods to children.
McDonald's also had to deal with the negative publicity that was generated by the success of’
the documentary film Super Size Me. in which filmmaker Morgan Spurlock chronicled his
decline in health while eating all of his meals at McDonald's for 30 days in row.

86- You can infer from the passage that advertising -------------- .
1) is less under doubt in comparison with the other promotions
2) includes a straight contact between buyer and seller
3) involves an indirect communication between seller and customer
4) is indirectly paid for by the organization

87- It’s referred in the passage that some companies like PepsiCo ------------- .
1) are damaging because of receiving a great deal of unfavorable publj
2) contribute to mass media in advertising unhealthy foods
3) are the key factor of obesity problem among children worldwide

4) cause the activists to have a negative belief in publici ‘ ¢
88- Techniques used to gain publicity --------------

1) are determine d by viewers 2) aren‘t expe

3) affect the audiences’ awareness 4) have credi

89- According to the passage, customers have a good sen
1) come from an objective source
2) have an identificd sponsor
3) are under control of an organization
4) that have low cost

90- The word “incur” in paragraph 2 means “s8-—------ .
1) carry out 2)make out 3)take up 4)bring upon












